Archer

Danielson 25-34-8 1H 5"MD

(Scale: 5":100' (10"))

Company: Chesapeake Operation
Well: Danielson 25-34-8 1H
Field: Mid Continent North

Well ID: 15-077-21749

Job Number: 03707-431-25

State: KS
County: Harper
Country: USA

Location: North of Manchester Elev KB: 1327
Operator 1: Monte Silhavy Elev DF: 1327
Operator 2: Dillon Gilles Elev GL: 1312
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
12 1/4 0' 755' 95/8 0' 755'
8 3/4 755' 4995' 7" 0' 4995'
61/8 4995' 9233’
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 6057 24X3 24X3 6057 6323
Cal Factor 5.299 5.299 2.753 2.753 2.753
Gamma Offset 34 41 33 39 38
Start Depth 4300 4383 4995 5657 7027
Start Date 05/14/2012 05/15/2012 05/20/2012 05/21/2012 05/24/2012
Start Time 03:00 01:00 04:30 13:45 06:15
End Depth 4383 4995 5657 7027 9233
End Date 05/15/2012 05/18/2012 05/21/2012 05/24/2012 05/27/2012
End Time 00:00 13:45 12:00 04:45 09:00
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#110 MD:9181.0 TVD:4752.3 1:91.5 A:358.9 VS:4628.0
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Gamma API (MD) Track: 1 Depth ROP (MD) Track: 1
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